
�

.$7$�3(1*$17$5

3XML� GDQ� V\XNXU� NHSDGD� 7XKDQ� <0(� \DQJ� WHODK� PHPEHULNDQ� KLNPDW� VHUWD�

NHNXDWDQ�NHSDGD�3HQXOLV�GDODP�PHQ\HOHVDLNDQ�SHQHOLWLDQ�LQL�VHEDJDL�VDODK�VDWX�V\DUDW�

\DQJ� KDUXV� GLSHQXKL� XQWXN� PHQ\HOHVDLNDQ� PDVD� VWXGLQ\D� GDQ� PHPSHUROHK� JHODU�

6DUMDQD�+XNXP�6WUDWD�6DWX�SDGD�)DNXOWDV�+XNXP�8QLYHUVLWDV�3HOLWD�+DUDSDQ�

-XGXO�\DQJ�GLSLOLK�ROHK�3HQXOLV� DGDODK� ³3(1(*$.$1�+8.80�'$/$0�

3(1-$78+$1� 6$1.6,� 5(67,786,� 7(5+$'$3� 3(/$.8� 7,1'$.�

3,'$1$� 3(5'$*$1*$1� 25$1*� %(5'$6$5.$1� 81'$1*�81'$1*�

12025����7$+81������7(17$1*�3(0%(5$17$6$1�7,1'$.�3,'$1$�

3(5'$*$1*$1� 25$1*´�� 3HQXOLV� PHQ\DGDUL� EDKZD� SHQHOLWLDQ� LQL� GDSDW�

GLVHOHVDLNDQ� NDUHQD� DGDQ\D� GXNXQJDQ�� QDVLKDW� GDQ� SHWXQMXN� EDLN� EHUXSD� VDUDQ�

PDXSXQ� EDKDQ� UHIHUHQVL� \DQJ� PHQXQMDQJ� WRSLN� SHQHOLWLDQ� \DQJ� GLNDML�� 8QWXN� LWX��

3HQXOLV�LQJLQ�PHQJXFDSNDQ�WHULPD�NDVLK�NHSDGD�

�� 'U��-RQDWKDQ�/,PERQJ�3DUDSDN�0�(QJ���VHODNX�5HNWRU�8QLYHUVLWDV�3HOLWD�+DUDSDQ�

�� 3URI��'U��%LQWDQ�5��6DUDJLK��6�+���VHODNX�'HNDQ�)DNXOWDV�+XNXP�6WUDWD�6DWX�SDGD�

)DNXOWDV�+XNXP�8QLYHUVLWDV�3HOLWD�+DUDSDQ�

�� 'U� 9LQFHQVLD� (VWL� 3XUQDPD� 6DUL�� 6�+���0�+XP��� VHODNX� .HWXD� -XUXVDQ� )DNXOWDV�

+XNXP�6WUDWD�6DWX�SDGD�)DNXOWDV�+XNXP�8QLYHUVLWDV�3HOLWD�+DUDSDQ�

�� 'U��$JXV�%XGLDQWR��6�+���0�+XP���VHODNX�'RVHQ�3HPELPELQJ�3HQXOLV�\DQJ�WHODK�

EDQ\DN�PHPEDQWX� GDQ�PHOXDQJNDQ�ZDNWXQ\D� GDODP� SURVHV� SHQXOLVDQ� SHQHOLWLDQ�



�

LQL��SHQXOLV�PHQJXFDSNDQ� WHULPD�NDVLK�XQWXN�ELPELQJDQ�GDQ�PRWLYDVL�\DQJ� WHODK�

GLEHULNDQ�NHSDGD�3HQXOLV�

�� .HGXD� RUDQJ� WXD� 3HQXOLV�� \DNQL� %DSDN�.HYLQ� /XNPDQ� GDQ� ,EX� /LOL� \DQJ� VHODOX�

PHPEHULNDQ�GRD��PRWLYDVL�VHUWD�SHUKDWLDQ�GDUL�DZDO�PHPEXDW�SHQXOLVDQ�SHQHOLWLDQ�

VDPSDL�GHQJDQ�VHOHVDL�

�� 6HPXD� SLKDN�SLKDN� ODLQ� \DQJ� WLGDN� GDSDW� GLVHEXWNDQ� VDWX� SHUVDWX� ROHK� 3HQXOLV�

\DQJ�WHODK�PHQGXNXQJ�GDQ�PHPEDQWX�3HQXOLV�GDODP�PHQ\HOHVDLNDQ�6NULSVL�LQL�

3HQXOLV� PHQ\DGDUL� EDKZD� SHQHOLWLDQ� LQL� PDVLK� MDXK� GDUL� VHPSXUQD� GDODP�

SHQ\XVXQDQ� GDQ� PDVLK� EDQ\DN� NHNXUDQJDQ� EDLN� GDODP� EHQWXN� SHQ\DMLDQ� PDXSXQ�

SHUDQJNDLDQ� NDWD� GHPL� NDWD��0DND� GHQJDQ� NHUHQGDKDQ� KDWL�� 3HQXOLV�PHQJKDUDSNDQ�

DGDQ\D�VDUDQ�GDQ�NULWLN�\DQJ�VLIDWQ\D�PHPEDQJXQ�GDUL�EHUEDJDL�SLKDN��3HQXOLV� MXJD�

EHUKDUDS�VHPRJD�SHQHOLWLDQ�LQL�GDSDW�EHUPDQIDDW�EDJL�PDV\DUDNDW�XQWXN�NHGHSDQQ\D�

-DNDUWD��-XQL�����

:LOVRQ�/XNPDQ



�

'$)7$5�,6,

+DODPDQ�
/(0%$5�-8'8/ L
3(51<$7$$1�.($6/,$1�78*$6�$.+,5 LL
3(56(78-8$1�'26(1�3(0%,0%,1*� LLL
3(56(78-8$1�7,0�3(1*8-,�78*$6�$.+,5� LY
$%675$.� Y
$%675$&7� YL
.$7$�3(1*$17$5 YLL
'$)7$5�,6,� L[

%$%�, 3(1'$+8/8$1� �

���� /DWDU�%HODNDQJ� �

���� 5XPXVDQ�0DVDODK �

���� 7XMXDQ�3HQHOLWLDQ� �

���� 0DQIDDW�3HQHOLWLDQ� �

���� 6LVWHPDWLND�3HQXOLVDQ� �

%$%�,, 7,1-$8$1�3867$.$� ��

���� 7LQMDXDQ�7HRUL� ��

������7LQGDN�3LGDQD� ��

������7LQGDN�3LGDQD�3HUGDJDQJDQ�2UDQJ� ��

������8QVXU�8QVXU�3HUGDJDQJDQ�2UDQJ� ��

������+DN�$VDVL�0DQXVLD� ��

������3HUOLQGXQJDQ�+XNXP� ��

������3HQHJDNDQ�+XNXP� ��



��

���� 7LQMDXDQ�.RQVHSWXDO� ��

%$%�,,, 0(72'(�3(1(/,7,$1� ��

���� -HQLV�3HQHOLWLDQ� ��

���� -HQLV�'DWD� ��

������%DKDQ�KXNXP�SULPHU� ��

������%DKDQ�KXNXP�VHNXQGHU� ��

������%DKDQ�KXNXP�WHUVLHU� ��

���� &DUD�0HPSHUROHK�'DWD� ��

���� 3HQGHNDWDQ�3HQHOLWLDQ� ��

���� 0HWRGH�$QDOLVLV�'DWD� ��

%$%�,9 +$6,/�3(1(/,7,$1�'$1�$1$/,6,6� ��

���� +DVLO�3HQHOLWLDQ� ��

������ ,GHQWLWDV�7HUGDNZD�'DODP�3XWXVDQ�3HQJDGLODQ�1HJHUL�.HIDPHQDQX�

1RPRU����3LG�6XV������31�.IP� ��

������.DVXV�3RVLVL� ��

������'DNZDDQ�-DNVD�3HQXQWXW�8PXP� ��

������7XQWXWDQ�-DNVD�3HQXQWXW�8PXP� ��

������3HUWLPEDQJDQ�+XNXP� ��

������$PDU�3XWXVDQ�0DMHOLV�+DNLP� ��



��

���� $QDOLVLV� ��

������ 3HODNVDQDDQ�3HQMDWXKDQ�6DQNVL�5HVWLWXVL�.HSDGD�3HODNX�7LQGDN�

3LGDQD�3HUGDJDQJDQ�2UDQJ�0HQXUXW�.HWHQWXDQ�8QGDQJ�8QGDQJ�

1R�����7DKXQ������7HQWDQJ�3HPEHUDQWDVDQ�7LQGDN�3LGDQD�

3HUGDJDQJDQ�2UDQJ�MR�3HUDWXUDQ�3HPHULQWDK�1RPRU���7DKXQ������

7HQWDQJ�3HPEHULDQ�.RPSHQVDVL��5HVWLWXVL��GDQ�%DQWXDQ�.HSDGD�

6DNVL�GDQ�.RUEDQ� ��

������ .RQVHS�3HQMDWXKDQ�6DQNVL�5HVWLWXVL�'DODP�7LQGDN�3LGDQD

/DLQ�GL�,QGRQHVLD� ���

%$%�9 3(18783� ���

���� .HVLPSXODQ� ���

���� 6DUDQ� ���

'$)7$5�3867$.$


